hER2E R

i
40 t =) FE R
B 158 B 69.3 %
30
£
%20 |
#
10
0 o o o o o ! o o 11 090 0o o o o !
42 44 46 48 50 52 54 56 58 60 62 64 66 68 7. 72 74 76 78 80 82 84 86 88 90 92 94 96 98 100
F9EBE(%)
10
3 BEAT-RAR 732 %
S EAT 729 %
% by 22 1
o 0 0 0 0 0 0 ) 0 ) 0 0 0 ) 0 ) 0 ) 0 = 0 0 ) 0 ) 0 ) 0 ) 0 ) 0 ) 0 ) 0 ) 0 ) 0 ) 0
42 44 46 48 50 52 54 56 58 60 62 64 66 68 0 72 74 76 78 80 82 84 8 88 90 92 94 96 98 100
:
i
10 !
N : KEET - AL RKETT - ILRRE ED
G5l o 69.6 %
£ ;22 2 1 101 11 KEE™ 673 %
0 0 0 0 0 0 0 0 0 0 B 0 = 0 e e E— — 0 0 0 0 0 0 0
0 — ! — SRE 741 %
42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82 84 8 88 90 92 94 96 98 100
i
10 i
5 i BT LA 745 %
ks : 5 ¢
55 i BefkTh 749 %
® o o o 0o o o 0o o o o o o ' " : o o ' * o ' o ' 0o 0o 0 0 0 o0
42 44 46 48 50 52 54 56 58 60 62 64 66 68 7o 72 74 76 738 80 82 84 8 8 90 92 94 9 98 100
i 18 RETH 746 %
: (/NRBT - =FERT - J\WERET - R BT - B/ )
10 :
i EH 639 %
= 5 5
R i e e
0 0 L 0 L 0 L 0 L 0 | — 0 L 0 ,_l_l_l 0 l 0 L 0 L 0 | — | 0 L 0 L 0 L 0 L 0 L 0 L 0 L 0 L 0
42 44 46 48 50 52 54 56 58 60 62 64 66 68 7:0 72 74 76 78 80 82 84 86 88 90 92 94 96 98 100
i
10 : .
_ . BEem- B LT -EIEE
; s | ! 66.8 %
B 1 2 i 1 BEH 688 %
0 0 0 0 0 0 0 0 0 0 0 0 0 = 0 0 0 0 0 0 0 0 0 0 0 0 .
0 L L L I L L L L L L L L L L L L h%J:Fﬁ 658 %
42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82 84 8 88 90 92 94 96 98 100
i
10 : N
i i BFIARFER-ICHIEH 680 %
s
55 f 4 ; BFIARET 708 %
® 00 0 0 0 0 0 0 0 ,;|L|_| o o 1 0o o |—|—|—|2 ot o ' 0 0o 0o 0 0 0 0 o0 = 605 %
0 L A R e e B A
]
42 44 46 48 50 52 54 56 58 60 62 64 66 68 7p 72 74 76 78 80 82 84 8 8 90 92 94 96 98 100
1
! R B PO AT A 663 %
; (EY0 BT~ J\EBBAT - 3£ )1 BT - KB
1
10 i
KA -l Ak v - Il AL BB
% 5 - , 3 ) 3 3 724 %
0 0 0 0 0 0 0 0 0 0 0 0 MW 0 m 0 0 0 0 0 0 0 0 Kflirt 726 %
0 20,90 09,99, 9,9, 9,9, 9, 0,9, 9,9, 9,9, e 698 %
42 44 46 48 50 52 54 56 58 60 62 64 66 68 72 74 76 78 80 82 84 86 88 90 92 94 96 98 100
10 i
i e 758 %
) i
w5 1
P, 2 2 2 8 ;
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ,_?_'_|_|_|_| 0 ,_l_| 0 0 0 0 0 0 0 0
42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 8 84 8 8 90 92 94 96 98 100
i
i
10 .
3 R - B AR 685 %
-+ |y
w5 iR 68.2 %
= 3 3
yLo, 0 0 0 0 0 0 0 0 0 0 o0 ,;|_|_|_| 00 0 0 0 0 0 0 0 O 0 0 0 0
42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82 84 86 88 90 92 94 96 98 100
AERETH 722 %

(SEHBHT - PIERHT - RAHAA)




